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NH,
Kb=1.6 x 107>

(a] 5 10 15 20 25 30 35 40 45 S50
(cm3) = @ Burette level

NH,;= 25.00 mL HCI= 0.00 mL -
NH,;= 2.5 mmol HCl= 0.00 mmol -
[OH] =JKb X [NH,] 2/1.6x10°5x0.1 = 000126 pq _

pOH= 2.90 pH=11.10 - pOH=-log[OH"]=-l0g0.00126




(cm?)

NH;= 25.00 mL HCIl= 12.50 mL -
NH;= 2.5 mmol HCI= 1.25 mmol -
[OH] = M
POH = pH=

- ¥

Litrrms



& & B HARYpH
R B PAT @SR BEAYEEY

HCl + [NH; 1 » [NH.CI ]

0.1Mx12.5mL 0.1Mx2 PIBE T XUHE

L] =1.25mmol  =2.5mmol
-1.25 mmol -1.25 mmol + 1.25 mmol
0 mmol |1.25 mmol| ‘1.25 mmol\
R1EAR

[OHT=Kb x Ml (011 16 % 10-5x 53 [OH]=16 x 105
[NH, =1 125
37.5




Yansm [OH]=Kb
NH;= 25.00 mL HCI= 12.50 mL -
NH; = 2.5 mmol HCI= 1.25 mmol -

[OH]= 1.6x105 M 0
pOH= 4.80 pH= 920 - pOH=-log[OH]=-logl.6 x 10-5

12.5 cm?
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(cm?)

NH; = 25.00mL HCI= 25.00 mL -

NH;= 2.5 mmol HCI= 2.5 mmol -
[H*] = M

pH= -

20 25 30 35
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25.01 cm?®



SoEEmPFEELIEDR = EHEZ
HCI + NH; — | nNn,ul
0.IMx25mL 0.1Mx2 E&pf47K iR

= 2.5 mmol = 2.5 mmol

-2.5 mmol -2.5 mmol + 2.5 mmol

NH,H9Kb=1.6 x 10 ~ 5 NH4+E|’s]Ka=11:>1<3;1_45 — 6.3 x 10-10

[H*] =\/Ka x [NH,*] [H”] =\/6.3 X 10710 x 25—5 [H*] = 5.6 x 10-6




PH=5.25> L ss HCIpR{EpH &4

=,
10 15 20 25 30 35 40 45 S50 ]
(cm?®) W= @ Burette level

NH; = 25.00 mL HCIl= 25.00 mL -
NH; = 2.5 mmol HCl= 2.5 mmol -
[H] = 5.6 x 106

pH= 525 = pH=-log[H*]=-log 5.6 x 10-6

0

Litrous



SEME E’JpH

(cm?) W @ Burette leve

NH; = 25.00 mL HCI= 30.00 mL -
NH;= 2.5 mmol HCI= 3.0 mmol -

[H] = M
pH=

Litrus

30 cm?
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|HClI | + NH; — [ NH.CI ]
o 0.1Mx30.0mL 0.1M x2 [5]5f 7 F4 &

= 3.0 mmol = 2.5 mmol

-2.5 mmol -2.5 mmol + 2.5 mmol

0.5 mmol 0O mmol 2.5 mmol
QE S EREARH ]

i

[H*] = [HCI] [H*] =32 [H*]=9.1 x 10-3



SEME E’JpH

NH;= 25.00 mL HCl= 30.00 mL -
NH;= 2.5 mmol HCI= 3.0 mmol -

[H]1= 9.1x103 M
pH= 2.04 -

(cm?) W @ Burette leve

pH=-log[H*]=-log 9.1 x 10-3

30 cm?



IR EEE

10 S T

‘ T~ |mEts2ri00 | AEIER
|

s — 45 4.578.3
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(cm?®) w ¢ Burette level
Ny=1Now

Cve) *Vigy*a= CGuim) *Vim) x b
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